
 

 
 

 
The first group of entries BAR HOP. They HANG OVER the sides of the grid and end up with a HANGOVER. 

The second group are TEETOTAL. There are ELEVEN Ts in the completed grid. 

 

Across: “graphed”, p+ublish*, n(ar[e])c[i]s, rock(i)er, [t]set-to[h](R), emeers*, escarp[got]+p, edicts(HR), 

de(d)uce, def(L+e+c)t+s, e(men)d, camer*+a, sta(r)Ve, la(vi)sh, v[i]o(i)la, to(i)let, abodes {abcde, closing 

the C into an O}, od(dm)ent*, fe[z]+do-ra[g]; 

 

Down: gEnome*, “recede”, b(an)k, “fair”, at [t](r)est, [t]rusted, bass[in]et, iota(H), sitrep*, rec[l]use, rose-

cut(H), i(deal)s, res(o)lEd* enrage*,  tries on*, d+e(fan)g, a+loof(R), Ea+ster[n], tied {initial letters}, 

[m]aide[n], leNd[l] 


